u &
- 5
Q T
& |
- . e
=} o
[ - L
k =
Q =
]
]
100km/h
n 80km/h
Q

(Fomw)

O r_ﬁv__'hw_l l_:7--__'|ma__l-3_
(LOS) 1 <—I[
1 1
I ] q
1

2.
a
(measure of
effectiveness; MOE)
a
3.
(MOE) [ e e
5} n 18
etc. Q 8,760
4 2> 4
a] 2
O > 2
a Q-v)
= 3




18 ( 1
8,760

-
-
- (8,760 )
| |
Step1.1 1
1
0
0.5
Stepl.2 [Step1-2]
U1 115 129 2/12 2126 3/12 326 419 4123
~a 0.1¢
0.0:
0.0
Step2 00 M
0.0:
© 0 2 4 6 8 1012 14 16 18 20 22
120(
100
80
60
40
200,
00:00 6:00 12:00 18:00 0:00 6:00 12:00 18:00

. 2
a
a 19
(follower density)
[ ] X
n 00
.
.
|}
Q-V
a
15
( )i
N
_ —2  _ —2
£ = —4 —4
£ < — —
< £ 90
o ~ 80 R
2 \
g £ 70F ~Taeo
5 o | SIal
5
. . . . . 8 5 . . . .
50 1

- 1000 2000 3,000 4000 5000 6,000 - 1,000 2,000 3,000 4,000 5000

()] L)




